326 INDIRECT SPEECH

2/ Now do the opposite: transform these participle clauses into 1 clauses:

e YLYV®OOKOUEV TOV 818d0KaAOV €V Ti] TOAEL GVTO.

3/ Write the verb given in brackets as a participle in the required tense, making it agree with the word in bold:

o UETOOTPEYOUEVOG OVSAUOD OPGD ZOKPATI «eovevveerenrvrnrenerennes (Plato, Symposium). [€mouat, present]

o Op® B€ KO AAAOVG TOL OVTA wevvevevvenrercnereeenenes (Plato, Symposium). [rdoyo, present]

o KOL PLE OC EISOV cevverererrererreceernan, €€ ampocdoxntov, e00Vc nondlovto (Plato, Charmides). [eioeyu, present]
o 00 YOP TAOMOTE ELSOV weveervrererereererererenas t0 vOv Aeyopevov (Plato, Respublica). [ylyvouat, aorist]

o 0180 KOl BAAOVG TOVV OWE ..vovvvveererreiieenn, (Plato, Phaedo). [mivo, present]

o EMELIN EMVOETO TV ELPAVNV eviniiviiiierccnnnes , ... (Xenophon, Hellenica). [yiyvouor, perfect]

4/ Complete each sentence with a participle of one of these verbs writing the correct form so that it corresponds

to the English sense (and make it agree with the word in bold):

onevdm / elul / StoAéyopar / Sra0beipw / Sieképyouor / mpocerovve / eiut

o NBEWG UEV KOVM ZOKPATOVS [CONVErSING] wuvvuvnerinirieniieenenens (Plato, Symposium).

o gmeldn nuvBdvetor Kdpov [advancing forward] .......ooeovviiiininninnn. , ... (Xenophon, Anabasis).

o gmel €yvo 1OV 'ABnvaiov Ta Tpdypata [having been destroyed] ........ccovviviiinenne. , ... (Xenophon, Hellenica).
e 0 'Aynoiloog, enet £yvm adtov [hurrying] .......o.oooeiieinan.e. , 00T0G €L AOGKVAELOV GNENOPEVETO

(Xenophon, Hellenica).

e 600 Gk0V® 0Vt [Narrating] «....oovvvvveiniininennns (Plato, Theaetetus).
o £nel fikovoe Kdpov ev Kihkig [being] ..o, , Tapd Bocidéo anihovvey (Xenophon, Anabasis).

o 10010 8& A€y®V B0pOPOV TKoVGE d10 TBV TAEE®V [JOINGT vevvvnviiviiinieiiienaes (Xenophon, Anabasis).



